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QUESTION 1

According to Juniper Networks, what are two recommended interior routing protocols for the underlay network? (Choose
two) 

A. IS-IS 

B. RIP 

C. OSPF 

D. EIGRP 

Correct Answer: AC 

 

QUESTION 2

Which statement is true regarding Layer 3 underlay fabric networks? 

A. Layer 3 underlay fabric networks can only be used across public networks 

B. Layer 3 underlay fabric networks rely on IPsec tunnels to interconnect tenants 

C. Layer 3 underlay fabric networks rely on Layer 2 loop prevention protocols 

D. Layer 3 underlay fabric networks are more scalable than Layer 2 fabric underlay networks 

Correct Answer: D 

 

QUESTION 3

Which platform was designed to act as a CPE device? 

A. PTX Series 

B. MX Series 

C. EX Series 

D. NFX Series 

Correct Answer: D 

 

QUESTION 4

Which two statements are correct when the vSRX base license expires? (Choose two) 

A. The vSRX will stop forwarding traffic 
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B. The vSRX management CLI access will be preserved 

C. The vSRX will be disabled and no configuration will be possible 

D. You will have to reinstall the vSRX 

Correct Answer: AB 

 

QUESTION 5

What are two benefits of implementing the Juniper Telemetry Interface for network monitoring? (Choose two) 

A. It enables real-time security event monitoring 

B. It enables real-time performance monitoring 

C. It eliminates the need for remote data collectors 

D. It eliminates resource-intensive polling of network devices 

Correct Answer: BD 
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